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4 A §7 A VYnporieHue MHOTO4IEHOB

Nwms: Jara: Onenka:
Tx— 8% — 5 + 2% —x° 2(7)63 + 4x) — 4x + ox® — 3x
2% — 3x— 2(6x° + 5x%) — 2% 8x° — X% — 4> + 6x — 4x?
2 - 3% — 3(4x3 — 5x3) — 5x° 6x° — 8> + 3(6x + x) + 4x
2(6x% + 4x) — 8x — 5x° — 6x7 3 + 6x% + 4(6x% + 4x°) + 3x
4(x3 + 2.x3) +5x— x> — 8x7 8x+ 3x% — 3% + 8x° — b
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raal O

YpoiieHne MHOTO4JIEHOB

Nwms:

Tx— &% — 5% + 2 — x°
— — 112 + 7x

23 = 3 —2(6x° + 5x%) — 2x?
—10x — 122 — 3x

23 = 3¢ = 34 — 5x°) — 5x?
50 — 8x?

2(6x° + 4x>) — 8x — 5x% — 6
8> + ¥ — 8x

4(x3 + 2x3) +5x— Tx° — 82
5% — 8¢ + 5x

Jara: Orenka:

2(7x° + 4x) — 4x + 9x° — 3x
23x° + x

8> — X% — 4 + 6x — 42
47 — 52 + 6x

6x° — 8x° + 3(6x + x) + 4x
—2x° + 25x

3x° + 62 + 4(6x% + 4x) + 3x2
19x° + 3322

8x + 3x — 3x° + 8> — 6x
5% + 3% + 2x
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